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General instruction THTT fac.er :-

e The question paper comprises 6 section A,B,C,D,E and F and there are 28
questions in the question paper. All questions are compulsory.
WIS IAH 6 G AT R &, @, T, 9, © W = 94 97 § 28 w4 7, g+t vy rfderd B

e Section A: From question 1 to 15 are MCQ of 1 mark each.
e & yHHen 19 15 7% ToF UF 3iF o Sgiahedd I 8

e Section B: Question number 16 to 19 are very short answer type guestion
carrying 2 marks each. Answer to each questions should not exceed 40
words.

© @- ¥ wea 16 @ 19 sif o 3ol w2 © el a1 3o 1 € TS ¥ 1 I 40 v
& Afereh el BT =y

e Section C: Contains question number 20 to 22 are short answer type
questions carrying 3 marks each. Answer to each question should not
exceed 60 words.

Ee - g e 20 € 22 o 3id 94 8 SHE | Yo % fe i 3 2, Tes 9 6 s 60
yIsat | Ak A&t g =Ry

e Section D: Question number 23 and 24 are case based question of 4marks
with sub questions.

S °- T 9 23 TS 24, I 37hT 1 3T T o TT e TG T 2|

e Section E: Question number 25,26 and 27 are long answer type questions,
carrying 5 marks each. Answer to each question should not exceed 120
words.

T - 3 U9 25,26 ue 27 <6 SoT 9§ I Ui 3ok T ], Tdd T 1 S 120 et &
My A BT =Ry




e Section F: Question number 28 is map based question.

de -9 99 g6 28 wrfe s g 2
SECTION — A (GS-)

(MULTIPLE CHOICE TYPE QUESTIONS)

(agﬁav—«q"nr qe)

Q1. Identify the image.

R F1 TR

A. Marianna ATRATT
B. Philip Viet fthfera ac
C. Germania STHTT

D. La Italia o E%T%RIIT

Q2. Under the presidency of Jawahar Lal Nehru, the Lahore Congress Session of 1929
formalised the demand of —

STATEYelTel Ag® hl HEIETAT H 1929 H HIPH & ogR T H AT HET 1G@r
nee
A. Abolition of salt tax AHhh{ I oldd
B. Purna Swaraj EURENE]
C Bycott of Simon commission ~ TBHA FHIAT & desHR
D. Separate electorate for the dalit ~ &ferdl & fow g faaTaee

Q3. Which was the fabled city of gold?
fra @Y A A FT AT Tl SATeA TIM?
A Peru 9%
B. Mexico Afeae!
C. El Dorado Tel 3RTaT

D. Spain TdsT



Q4. Besides Hindi, there are........... other languages recognised as scheduled language
by the constitution.

afaereT 7 B & emar...... 3 AW @ 3efRd AT Fogett far

IRAT B

A.21

B.23

C.24

D.8

Q5. Which subject in not under the Union list?

Pl A7 YT qU G & e @

A. Defence J&1T

B. Banking sfarer
C. Communication AR
D. Marriage faarg
Q6. In India seats are reserved for women in........
ART H Afgerm3h & faw............ H die IRfEd §

A. Lok sabha olfer&HT
B. State legislative assemblies T=T TaT=IaHT
C.Panchayati Raj bodies TamIdl It I FEATT

D.Cabinets HATHZT

Q7. Which among the following statements about India 's Constitution is wrong? It
HRAT FAUT & X H SAH A DA AT HYUA ITeld 82 I8

A. Prohibits discrimination on grounds of religion.
g O F MYR W HHT H FARY F:aT 2
B. gives official status to one religion.
T Teh € &l TolhrT 9 adrar
C. Provides to all individuals freedom to profess any religion.

g ol & P o e A Hr ST aar B



D. Ensurance equality of citizens within religious communities.

forelt enfder HoeT & @3l AERET &l SE AT HAHR S gl

Q8. Which one of the following methods is used to break up the force of wind?

Udeil GaRT SAfAd FoT &l HHASAR Hel & v fhd g 1 geufd 39S
STl 87

A. Shelter belt T&Teh AT

B. Strip cropping 9e<r iy
C. Contour ploughing IRIT IS
D. Terrace farming @I HiY

Q9. During whose reign were the dams, lakes and irrigation system built extensively?
foraar emasTee # g6 TR W Ay, e 3R e dF &1 fFaAtor s

IgT?

A. Ashoka 372lTe

B. Chandra Gupta Maurya iga[ed #id

C. Akbar 3he&lY

D. None of these S8 & &I gl

Q10.There are five member in a family with the monthly income 5550,6000,2000,1000
and X respectively.The average income of the family of the month is 3300. Find the
value of X.

Ush YRAR # U Te&T g [T ATl 31T shaer: 5500, 6000,2000 ,1000
tg X gl 9Rar i 3itga arfdes 3 3300 &1 X &1 AT IdT0|

A.1000
B. 2000
C. 2300
D. 2500



Note:- Options for question number 11 to 15.
There are two statements marked as Assertion (A) and Reason (R). Mark your answer
as per the codes provided below:

HARYUT (A) IR HROT (R) & &7 A RARAT e et g1 & fqu 71w et &
AR 39T 37 &
A. Both A and R are true and R is the correct explanation of A.
AR R G § 3R R, AFr F&I carear g
B. Both A and R are true but R is not the correct explanation of A.
A 3R ReET TEr § afhT R, A T sarEar T §
C. Alistrue but R is false.
AT § Wed R ITT &
D. Alis false but R is true.
ATTEd § W R T €l

Q11. Assertion (A): Sri Lanka emerged as an independent country in 1946.
fFRYUT : AeTdr 1946 H Teh TAAT S & FT H 3T

Reason(R): 1956 act recognised Sinhala as the only official language.

HRUT: 1956 & FfAfFTd o Bgel & TrATT TTATST DT T &2m|

Q12. Assertion (A): The first challenge is lack of internal democracy within parties.

HAFYT: ggell Feilcl § IEl & o 3ARE depciT 1 =1 giem

Reason(R): Very often parties do not seem to offer a meaningful choice to the
voters.

$ROT: Sg TR AICTAT AGGIASN T 3T fAhed el il Fereher
sTel il gl
Q13. Assertion(A): Sustainable development is essential for economic growth of the
countries.

AR ST & 3k g & v gaa Nwoha [ 3mags
gl

Reason(R): Sustainable development ensures that environment friendly
measures are adopted for carrying out production process.



SRUT: faepra gAfRad axar § & 3curee gfshar & fau adiawor

3elehel 3UTT AT S|
Q14. Assertion(A): Reliance industries is a privately- owned firm.

Hep2reT: Reme 3T Teh foroll Sl 2

Reason(R): Government is a major stakeholder in Reliance industries.

HRUT: RelFE 36T # THN &l Teh A& FEae Bl

Q15. Assertion(A): GDP shows how big an economy is.

AU Hohel Te] 3cUTG U6 YGRIT Al ¢ bl HIeqaedT fohcel

a3 gl

Reason(R): GDP is the final value of all goods and services produced within
the domestic territory of a country in a year.

HRUT: Hhel 6] 3c9TG (SNEH) T a¥ 7 farddl Sor & oo 817 H
Scqrfee wefr a3 3R Qansit &1 3ifad T g B

SECTION - B (TS-9)
(VERY SHORT ANSWER TYPE QUESTION)

(3rfererg 3T wee)

Q16. What do you understand by silk route?

AH AT & AT FAT FHASA 672
Q17. Why is power sharing desirable?

AT T ISR FAT T 82
Q18. What is J.F.M.?

S.UR.UH. 7 g7

Q19. "What may be development for one may not be for the other. It may even be
destructive for the other”. Define the statement with the help of example.



"Teh & fAT S [ahre & 98 @Y & AU Ay =1 g1 Jgr a & a8
G & AT fa=merary o g7 WehdT &1"3eTeR0T Higd U HYUT HT el H|

SECTION - C (@3-77)

(SHORT ANSWER TYPE QUESTION)

(g 3T 994)

Q20. What steps did the French revolutionaries take to create a sense of collective
identity among the French people?

SIENT ol & o A@efige Ul @ Hd Yar ae & o e
FIfARINGT o FIT HGH 33TT?

Q21. Define the functions of political party.
ST Gof o il & qouTd |

Q22. In what respects is the criterion used by U.N.D.P. for measuring development
different from the one used by the World Bank?

fasra A #T JUAINA. T AGes fheT ggdsi A favg 9% & AU
T 37697 &2

SECTION — D (G3-H)
(CASE BASED QUESTION)
(T TR 92:7)

Q23. Case based questions

In a democracy, we are most concerned with ensuring that people will have the
right to choose their rulers and people will have control over the rulers. Whenever
possible and necessary, citizens should be able to participate in decision making,
that affects them all. Therefore, the most basic outcome of democracy should be
that it produce a government that is accountable to the citizens, and responsive to
the need and expectation of citizens. Before we go into this question, we face
another common question: Is the democratic government efficient? Is it effective?



Some people think that democracy produces less effective government. It is, of
course true that non- democratic rulers do not have to bother about deliberation
in assemblies or worry about majorities and public opinion. So, they can be very
quick and efficient in decision making and implementation. Democracy is based
on the idea of deliberation and negotiation.

dlhcT H Ha a9 fIar Ig gl & fob Sail 1 379 ardeh Yool
PR IR AP W FAIFT SR | TFd -aTd IR JUrEHg
s At & fow oelt &t AT gfsear & ARfiely e & @er# g
Tifige arfes delt & 9fd SFAeR WER 90 T 3R WER @6
ST 3R 35 W &1 ¢ | 30 TATAT & dFATel & Silel § ggel AR
AHA Th ARl AT ST ISdT HaTd Ig o g FAT elihcliieh THR
FA FHAT Bl & 27FIT TE JHET B 82 FT AN HT AT g TR
dlehdd H HH THE TPN do0dl & | Hffad &7 a9 38 @gr ¢ &
3TeliehdiTaeh IhRT ol TFUTRIGT ST ATHAT T8 T 8rdr| 5r§d§<-i{sqch
AT HeUHETH AART I EITT gl IWAT USdT| dlehdd H Sddid AR
Arediel & 3TUR 9 FHIHA ToldT gl

23.(1) What do you mean by right to vote ? 1
ATIPR & AT FAT THASTA 67
23.(2) Democracy is based on which two ideas? 1

olihdd fohet aF faaRt 9 3maria 872
23.(3) What should be the most basic outcome of democracy? 2

AR T I T AT aROMA F7 82



Q24. Case based questions

Minerals is generally occur in three forms.

(i)In igneous and metamorphic rocks minerals may occur in the cracks, crevices,
faults or joints. The smaller occurrences are called veins and the larger are called
lodes. In most cases, they are formed when minerals in liquid /molten and gaseous
forms are forced upward through cavities towards the earth' surface. They cool
and solidify as they rise. Major metallic minerals like tin, copper, zink and lead
etc. are obtained from veins and loads.

(i) In sedimentary rocks a number of minerals occur in beds or layers. They have
been formed as result of deposition, accumulation and concentration in horizontal
strata.Coal and some forms of iron ore have been concentrated as a result of long
periods under great heat and pressure. Another group of sedimentary minerals
include gypsum, potash salt and sodium salt. These are formed as a result of
evaporation especially in arid regions.

(iii) Another mode of formations involves the decomposition of surface rocks,
and the removal of soluble constituents, leaving a residual mass of whethered
material containing ores. Bauxite is formed this way.

giest 9 Tt Aef FHE § 9T 81 B

(i) 3T dUT FRAART Teeldl H @leAsr &IRT, Sier, &R g et &
el & | ©i¢ AT RREH & &0 # 3R ged STAE WA (dls)d &9
H grv S1a g1 ST AT #f 3R 39 GHT gidT & o9 I§ dld
37ar AT HIEAT H IR &F TR ¥ -J°6 I AR Uhel Sd &1 IW
S 3R drar 3nfe 54t aRg AR 9 56 & 9 & 9red 8ia § |

(ii)37er Wil 3R dTeerdl & 3ol Widel HEART AT WAl & IiT
STd &1 Sotepr AT &ifdsr war # fSeivor, §aa @ SdAET Fr aRkomse
g1 PIFAT TUT S 3T GhR & g IHATH HT AHT ofall 3afer oeh
Hcgeeh AT g &a1d T IRUMHA g1 3« GHE Tt # galy Sof
& gfae & Sregd, Qe J796 g aisgw afFafaa &1 sa@r @amor
faay &7 sk yeRlt & arshenior & Bl TEXY giell g




(i) @S & AT fT T 37T /T RIdely gcer=r &1 394uc gl
el &l il dedl & JWeed & IAld IJAEH dlell 3ATISe
TeeTel @ ST gl Siearse & fFAA0T s R 8T g

24.(1) Minerals are deposited and accumulated in the strata of which rock? 1

fohet Tcerell A @fesl FEART AT Wl H 910 S1d 872

24.(2) Name the minerals
formed by decomposition of rocks, leaving a residual mass of weathered
material containing ore? 1

39 GiAst &1 AT S0 ST Feerel & gl dedl & 3Red &

AT 3ITH dlell HATASE TCell (g Sial 87
24.(3) What are veins and lodes? 2
faRT g o =7 &2

SECTION - E(T3-3)

(LONG ANSWER TYPE QUESTION)

(@ 3T wee)

Q25. How did people belonging to different communities, regions or language groups
develop a sense of collective belonging in India?

AR # TaffeT qHaral, &30 A1 H1Y § HIeH Helel-37c9 FHg o AHGH

A9 T J19 HO Ff@a war

Q26. Explain any five technological and institutional reforms in Indian agriculture.

ARG $Y H fhegr ura Wle@fehr 3R FEUEIT GURT &1 aote |
Or 3ydr

Describe the three cropping season of India.

R & dleT e FJ3A HT quT AL



Q27. Why is organised sector preferred by the employee ?Explain.
FHANT & GART HITS 879k sl aAdT FAT & Tl § 7eqredr |

SECTION - F (T3 -d)
(Map skill)
GIGIEERCINEG))

Q28. ldentify the following and locate with label in the given political map of India.
fArafafad # 9ga R T §U HRA & TSdlcer AT T gAd g
TR |

a. Two places A and B have been marked on the given political outline map of India

identify them with the help of following information and write their correct name on the
lines drawn near them:

few gu oG & IS AT W &l T A 3R B3R &1 & &9
HIAT & MUR W 3AhI T §U 3oih I idl §5 3@ T 3T Fel
AT T |
28.(1) The place where Jallianwala Bagh massacre took place.

g TATT STgT AT I aTell §19T aRIR g3 |

28.(2) The place where National Congress session was held in 1920.
dg T oT8r 1920 H ma:rwv@wma‘gmgml
b. On the same political map of India locate and label following with suitable symbol :

AR & 3 Toklias ARART | Arafaf@a & 3uged Real & a
gl U ATAIRA Y

28.(3) Bhakra Nangal Dam $TT@sT ATTel ST

28.(4) Mountainous soil 9T FHaT

28.(5) Largest Tea producing states HaTT&eh ATT 3cUTgeh oy
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